= A
N = 0] &F AF S & AN A
2N S22d
M JEEGY G U OFE SN2 JHIS(SEHSLM/S5Y - &)
el Jbsge X7 CERED
x 5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
s=2d9y 31,538,905 19,267,841 12,271,064
= 9,166,951
g 600,000
Jl 3,006,689
= 18,765,265
=YY HAEg L oM FEAMS JISAE(sHol L4 31,500,978 19,232,936 12,268,042
M= - ==)
= 9,166,951
g 600,000
J| 3,006,689
& 18,727,338
sged =4 28,861,888 14,400,535 14,461,353
= 9,097,010
J| 2,459,669
& 17,305,209
=AY et 2 ARAE o = XK (=21) 5,758,207 7,148,031 N 1,389,824
= 4,897,974
& 860,233
308 XHXIEHSOIA 5,758,207 7,148,031 N 1,389,824
= 4,897,974
o=t 860,233
01 AIKSHHEMNEXZ 5,758,207 7,148,031 N 1,389,824
ONETY oY L AN A4E 1Y S X 5,758,207
= 4,897,974
o 860,233
S Rter U AY HALEH S XK (=21D) 220,000 92,500 127,500
= 190,000
= 30,000
403 XX SRS K20 & 220,000 92,500 127,500
= 190,000
= 30,000
01 AXESHIEE X 220,000 92,500 127,500
ot Xy, ASHH S A 220,000
= 190,000
& 30,000
gAY AHY HAIEH E NF(HEBLASHA)( 748,800 1,143,480 A 394,680
27)
= 576,000
= 172,800
403 XX SHHS K2 0| & 748,800 1,143,480 A 394,680
= 576,000
= 172,800
01 MXHHNE2E = 748,800 1,143,480 A 394,680
OHEALASHA &X 748,800
= 576,000
= 172,800




SN SSYAD
Hu: IEXYY HFS L oW SN2 IUNS(SUHSSL/5Y - 5E)
el Jbsge X7 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ItEMetH 28 9t Xl olAY| X (=21D) 1,776,667 1,223,800 552,867
J| 1,066,000
& 710,667
307 2Iz2t0| A 1,776,667 1,223,800 552,867
Jl 1,066,000
= 710,667
02 QIZHEAAIRE E X 1,776,667 1,223,800 552,867
OJIFE YA 21| 1,776,667
J| 1,066,000
=} 710,667
S99, SMNEFMUOLN S2SES UHssE M 68,000 0 68,000
201 LBt | 68,000 0 68,000
01 AP 22| d| 68,000 0 68,000
Os=2eY, SNE/MUN, S22S U
= 68,000
SESS0IREMY HIES2H NE 169,800 0 169,800
308 XX G SOIA 169,800 0 169,800
01 AIKSHMEAMNEX= 169,800 0 169,800
ods=20tEMY HIES2H K& 169,800
IEdEY eEs 8 N 134,950 96,000 38,950
308 XNXISHSO0lI& 134,950 96,000 38,950
01 AIKISHHENEXZ 134,950 96,000 38,950
OJIENEY HYEs 23 XN 134,950
b= AFMIA 2l K& 46,200 0 46,200
403 XX SRS K20 & 46,200 0 46,200
01 AXESHIE2E X 46,200 0 46,200
OJIE AFMIA 2ol X& 46,200
CCTV & gtdolmet AX X (=21D) 232,200 189,000 43,200
Jl 193,500
= 38,700
403 XX SHHS K20 & 232,200 189,000 43,200
J| 193,500
o= 38,700
01 XIS A2E X 232,200 189,000 43,200
OCCTV & Xl = 232,200
J| 193,500
& 38,700
2 AAssIt HIs2H & 90,000 0 90,000
308 XAHXIGH SO0l & 90,000 0 90,000
01 AIKISHENEXZ 90,000 0 90,000
OJt2 MESIH HIESZH N3 90,000




SN SSYAD
HE: JIEFYY S UL AW BUB IHIE(STHYLN/5Y - 52)
Sl JtEYY =X CERED
- o
SA BB (S) - NRAY - BAS 0] &k o4 e Hl D2
TSYHS 2¢(21) 1,440,203 1,431,174 9,029
o] 1,200, 169
= 240,034
308 XHXI €A S 01 & 1,440,203 1,431,174 9,029
J| 1,200, 169
= 240,034
0 HASHILEES 1,440,203 1,431,174 9,029
IsYHS 29 1,440,203
| 1,200,169
= 240,034
Az 243(21) 1,125,000 1,125,000 0
2 1,000,000
= 125,000
308 XHXIEHH S0/ ™ 1,125,000 1,125,000 0
2 1,000,000
= 125,000
0 HXSHIAEES 1,125,000 1,125,000 0
ONHE 243 1,125,000
2 1,000,000
= 125,000
YN YESIH NSTR MHIA N 114,000 14,000 0
308 XHXI A S 0| & 114,000 114,000 0
0 HXSHIAEES 114,000 114,000 0
OYH YESI HEFZ HHlA X 114,000
SAP2Y A X 60,000 60,000 0
308 XHXI €A S 0| & 60,000 60,000 0
0 HASHILEED 60,000 60,000 0
OHALRY YAl X 60,000
BAHNSPEAZY N 10,500 10,500 0
308 XHXIEHH SO ™ 10,500 10,500 0
O HAESHBLEES 10,500 10,500 0
oZAY HYZE Azt N 10,500
S0h HEYE ASAE X 108,000 35,000 73,000
308 XHXIEHH S0/ ™ 108,000 35,000 73,000
0 HXSHIAEES 108,000 35,000 73,000
O NSYAB AS4E [ 108,000
SOLX AAY o g 19,170 8,000 11,170
308 XHXI A S 0| & 19,170 8,000 11,170
0 HXSHILERD 19,170 8,000 11,170
SOX &AY ol g 9,170
Aeye ASAE 29 X 173,620 108,000 65,620




AN SSEIM
M JlEMEY HES U UM BHE JNUTIE(SUHLSM/SY - 5E)
e P E ISIESS (2o ae)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
202 Od4dl 10,000 8,000 2,000
01 = LHA YI 10,000 8,000 2,000
OJN=EY P2 =& ol 10,000
308 XXM SOIA 163,620 100,000 63,620
01 IXNHHBANEES 163,620 100,000 63,620
OXHEA ASAE 2E X 163,620
S22 X 208,800 208,800 0
308 XX EHH SOl A 208,800 208,800 0
01 IXNHHBAMNEES 208,800 208,800 0
oz+2 =& X& 208,800
SEE MA - ASAIE £ FH X3 79,520 135,000 A 55,480
403 Mt SHHSA=0l& 79,520 135,000 A 55,480
01 HXSHMA=E X 79,520 135,000 A 55,480
OXEEE ME - ASAE & FUHXA 79,520
Fdp=g= el 50,000 50,000 0
201 LB-2d| 12,000 12,000 0
01 At 22l 12,000 12,000 0
OAl - M &&a 29 12,000
206 M= tl 38,000 38,000 0
01 MHZ 4l 38,000 38,000 0
OZSEAAE HIE & HA 38,000
THS HASH EH48 ML 48,700 61,000 212,300
202 04l 8,000 0 8,000
01 = LHA YI 8,000 0 8,000
OFHME S YA =& o4 8,000
308 XXM SO0 A 40,700 61,000 A 20,300
01 AXNSHHBLAEES 40,700 61,000 A 20,300
OFHY Balety S48 ML 40,700
A g W 4X X 34,650 0 34,650
308 XX EHHSOIA 34,650 0 34,650
01 AXHHILEES 34,650 0 34,650
OXA REE MY &X X 34,650
FH=IH SEJNEE HEANAE 2F 15,000 0 15,000
308 MtXIEHMSOIH 15,000 0 15,000
01 HXNHHBHEELS 15,000 0 15,000
OSHsSI SEJNEE WAL 2= 15,000
RAasIh ANE 29 AN AMAE 2= 22,500 0 22,500




SN S2YAD

My OlEXGY HEH L OF SN2 IURS(SHLLH z)

el Jbsge X7 (S &2)
_ RE]

SA "B .G () - NEAY - BAS %@i HD=2
403 XX SHHS K20 & 22,500 22,500
01 AIXISHHMA=Z2E X 22,500 22,500

OXEASIH ADE 2" HNH AIAE 2= 22,500

l2sit AQLE ®Y9AIE 25 42,000 42,000
403 XX SHHS K20 & 42,000 42,000
01 XIS A=Z2E X 42,000 42,000

OJl=2sIt AQE g AE 2= 42,000

A MHsIE 2HE S Al=H X 450,000 450,000
308 AMXISHMSOIA 450,000 450,000
01 X HHIMNEEXTZ 450,000 450,000

OA MA=I 2HE B A= XS 450,000

AretH 2Y HEAIAE 2F 41,400 41,400

308 AMXIESHMSOIA 41,400 41,400
1 AXNSHHMENEXZ 41,400 41,400
Ol 28 oegAlAE X 41,400

SHCH Xl DA XI& 79,200 79,200
308 XX G SO0l A 79,200 79,200
01 AIXSHMEMNEX= 79,200 79,200

O Xl IO H K& 79,200

OFME= DO M X 59,400 59,400
308 XHXIGH SO0l & 59,400 59,400
01 AIKISHHENEXZ 59,400 59,400

OO0IMZE= IO M X& 59,400

SAXGAE HAMM Hel 8% 18,900 18,900
308 AMXISHMSOIA 18,900 18,900
01 XHHIMNEEXTZ 18,900 18,900

OB &ASAE HAM Hel 8% 18,900
PHSE g X (=2D) 2,723,006 2,723,006
= 2,415,536
= 307,470
308 XAHXIEHMSOIA 2,723,006 2,723,006
= 2,415,536
= 307,470
01 AIXSHMENMNEX= , 723,006 2,723,006
OZRME HELEE S 35 2,723,006
= 2,415,536
&< 307,470
HEX AHE22(Z2D) 25,375 25,375
= 17,500




AN SSEIM
M JlEMEY HES U UM BHE JNUTIE(SUHLSM/SY - 5E)
el Jbsge X7 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 7,875
308 XXM SO A 25,375 0 25,375
= 17,500
< 7,875
01 IXNHHBNEES 25,375 0 25,375
OMESK AtZ=2e] 25,375
= 17,500
< 7,875
HELASANE EX XA 2,668,120 0 2,668,120
403 XIS E X201 & 2,668,120 0 2,668, 120
01 XM A=2EE 2,668,120 0 2,668, 120
OHBASAIE X 7THA 2,668,120
ASF HPAI ,FMD &AL XA 2= 10,000,000 0 10,000, 000
206 M= Hl 3,366,360 0 3,366,360
01 =8l 3,366,360 0 3,366,360
O2Has s A=A 3,366,360
308 XX EHHSOIA 6,633,640 0 6,633,640
01 HIXNHHNBNEES 6,633,640 0 6,633,640
ONE - SH HA2E 6,633,640
gtis=2 23 - 2l 1,496,390 1,333,651 162,739
= 63,941
s 600,000
< 832,449
SARISE AL N (=21) 24,708 40,600 A 15,892
= 17,040
< 7,668
308 XXM SOIA 24,708 40,600 A 15,892
= 17,040
< 7,668
01 AXHHILEES 24,708 40,600 A 15,892
RAERIIsS Y2H X 24,708
= 17,040
< 7,668
20201 E43 =4 XA (=1) 60,060 36,300 23,760
= 27,300
= 32,760
308 XtXIEHHSOIA 60,060 36,300 23,760
= 27,300
< 32,760
01 HXNHHBHEELS 60,060 36,300 23,760
2020l sS4st+=H A& 60,060
= 27,300
< 32,760




AN SSEIM
M JEEGY G U OFE SN2 JHIS(SEHSLM/S5Y - &)
el gdsE 25 - 2el (=& J)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2 -RAS2 22 - ES HE NA(=1) 43,122 43,751 A 629
= 19,601
< 23,521
308 AHAIEHHSOIA 43,122 43,751 A 629
= 19,601
< 23,521
01 AXSHBLEELS 43,122 43,751 A 629
I - REs2 2= ES HE8 N 43,122
= 19,601
< 23,521
s=2234H gl X2 (=2) 1,020,000 1,020,000 0
as 600,000
< 420,000
403 MtXISHH S0l & 1,020,000 1,020,000 0
as 600,000
< 420,000
01 AXSHMA=2E X 1,020,000 1,020,000 0
O==23HH X X& 1,020,000
s 600,000
< 420,000
qlles2 85 - 22 A& 128,000 108,000 20,000
202 4l 8,000 8,000 0
01 SLHOIYI 8,000 8,000 0
O=s=sE3d: =& 8,000
308 X EHSOIA 120,000 100,000 20,000
01 HXNHHNBMNEES 120,000 100,000 20,000
Rllss 252 120,000
2020l S43 A Y 40,000 40,000 0
308 XXM SO0l A 40,000 40,000 0
01 IXNHHBNEES 40,000 40,000 0
OZ02d0l S43t ALY 40,000
AN - SSESHH AIEME MG 30,000 30,000 0
403 XSS X201 & 30,000 30,000 0
01 X SHHX2E= 30,000 30,000 0
OANZ sESE2SHH AEME A 30,000
Breis= e s& M =8 11,500 11,500 0
201 Let249] 11,500 11,500 0
01 At 22/l 11,500 11,500 0
os2s M& S 11,500
BtisE 23t A XA 20,000 0 20,000
307 glz2tol & 20,000 0 20,000




AN SSEIM
M JlEMEY HES U UM BHE JNUTIE(SUHLSM/SY - 5E)
el gedsSE 25 - 28 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 20,000 0 20,000
ObtteisE 2t AL XA 20,000
FISSAMH AME Hel X 17,000 0 17,000
308 XXM SOIA 17,000 0 17,000
01 AXHHBILEES 17,000 0 17,000
ORIISSAH Fd8H Hel XN& 17,000
BelESE ML (HE) 102,000 0 102,000
403 A X EHHS =0l A 102,000 0 102,000
01 AXSHHMA2E = 102,000 0 102,000
OS2 =016 X4 (M) 102,000
SNE ?Y -ty &8 1,142,700 1,098,750 43,950
= 6,000
J| 547,020
< 589,680
SEAAMA o2 X (=22) 791,700 767,800 23,900
J| 475,020
< 316,680
307 gl2tol & 791,700 767,800 23,900
J| 475,020
< 316,680
02 It S AHE L 791,700 767,800 23,900
OZS=ZALA 1Al 791,700
J| 475,020
< 316,680
EAH2 HACCP 2188 (=2 1) 82,800 82,800 0
J| 72,000
< 10,800
308 XXM SOl A 82,800 82,800 0
J| 72,000
< 10,800
01 IXNHHBNEES 82,800 82,800 0
O=4= HACCP 218 X & 82,800
J| 72,000
< 10,800
S4&sot - SMSH Y HACCP X3 64,400 69,650 25,250
202 44l 8,000 8,000 0
01 S LHOIYI 8,000 8,000 0
OHACCPAI & H2 =& (bl 8,000
403 XA SA=0l& 56,400 61,650 25,250
01 XM A=E X 56,400 61,650 A5,250
OF&sI - SUSEFE HACCP XI& 56,400
XM HHSMSAMIAI 22+ (21) 12,000 10,500 1,500
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